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inti;
1 int sum = 0;
for (i=1;i<=n;i++)
{
sum = sum + i;
}
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1. class Rectangle

2. {

3. String color;

4, double height, width;

5. Rectangle()

6. {

7. System.out.printin("g{TERET 1..");

8. this("f34L 8", 5, 5);

9. }

10. Rectangle(double height, double width)

11. {

12. this.color = "EE&1";

13. this.height = height;

14. this.width = width;

15. System.out.printin("h{TERET 2...");

16. }

17. Rectangle(String color, double height, double width)

18. {

19. this.color = color;

20. this.height = height;

21. this.width = width;

22, System.out.printin("hfTERETT 3...");

23, }

24, }

25. public class test07

26. {

27. public static void main(String args[])

28. |

29. Rectangle r1 = new Rectangle();

30. System.out.printf("%s 257 r1 BV 5 R %3.2f & E%3.2f\n", rl.color, rl.height,
rl.width);

31. }

32. }
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public static void main(String[] args)
{
int no;
Scanner num = new Scanner(System. in);
dof
%k 3B % no 7E hdciE
wﬁm0MQnm@%ﬁ%ﬁ%E¥#ﬁﬁ&@:ﬂ;
no = num. nextInt();
twhile(no < 4);
System. out. println(“% "+not“7 “#ciE 2 "+Seq(no));

itatic int Seq(int n)
{
/13 % = i S #ingg 5t
}
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